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HH: HTBY A

el DB HEE BX CER-ED
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S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
202 o4 | 5,850 5,850 0
01 2L I 5,850 5,850 0

OcHEs pege XX
162,500 = 3% * 12& 5,850
203 SR F & 9,200 9,200 0
03 AIZH =& 25 X H| 9,200 9,200 0
OXFXI S M2 RO & A 200,000 = 213l 4,200
OBt H & 2H 10,000& = 100¥ = 53| 5,000
301 et A= 36,730 49,730 A 13,000
06 212to1 =22 (4 bl 7,000 20,000 A 13,000
OMNiols2s =223 X
1,000,000& = 74 = 13 7,000
09 HAIAHI B A S 29,730 29,730 0
OMOISXNEX SARAEW=H|
121,000 * 93H 11,253
OMOISXEX} Sdns S ZFAX AdEA
106,800& * 93H 9,933
OHIZEHAD| N & &I Ad 24
106,800 * 40™H 4,272
OXNKRsdd N 5 EFAX Ad 24
106,800 * 40"™ 4,272
307 212t0| ™ 219,800 216,800 3,000
02 QIZHBAAIE E X 129,800 130,800 A 1,000
OMIOIE22D(EAN S) 10,000,000 = 1JH A 10,000
OMDOIS210 SAHAZEXUE 2,000,000& * 13 2,000
OMOl2E21l 4 14,000,000& 14,000
OMDI=S2s Z2HEZEAYE K&
30,000,000 = 13| 30,000
o202t 8203 S N (Mots2s,
H2AH A, FSESH W) 2,000,0008 = 43 8,000
Ost=2XssdY 2AE2Xg AESHYE HAES
5,000,000& = 13| 5,000
OMDIS25 AIgHl K& 33,600,000 33,600
OHtEANAII&s AgHl XS 19,800,000 19,800
Ost=2XKesHY AHH X 7,400,000& 7,400
03 I HEESIHHIEX 90,000 86,000 4,000
OMOI22s 224l X& 43,000,000 43,000
OttE2Halles 49H N 27,000,000 27,000
Ost=XRsHY 29Hl X 20,000,000 20,000
402 SI2v 20| & 80,000 0 80,000
01 It EANSEX (M) 80,000 0 80,000
OMOIS3 & 229y Y HEZA A&
80,000,000 80,000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HHel AFS SR 22l 139,000 183,000 A 44,000
301 LBt A= 49,000 49,000 0
04 AiIsHHMHAH XS 45,000 45,000 0
ONSUHIHA &= K| (0raldl £)
3,000,0008 * 1502 45,000
09 HAIAHI EAZ 4,000 4,000 0
OXE=EHM S NIASAES 2O A- 24
10,0008 » 400%™ 4,000
307 212t0| & 90,000 114,000 A 24,000
02 DI AAIE E X 90,000 114,000 A 24,000
OdyzaIHX O AKRAYH K&
20,000,000 20,000
OXEed X4 U SFEAYE 5 XS
18,000,000 18,000
OHMEAN 28 2 25HSHH S Ng
35,000,000 35,000
OoEoAl N Y WRAYE S XS
6,000,000 6,000
Os2Udl JIBEHEAIE & X
11,000,000& 11,000
MOISX A AE &s=2 X 7,840 7,840 0
=} 3,920
= 3,920
301 et A= 7,840 7,840 0
= 3,920
= 3,920
02 etadetk2 7,840 7,840 0
OMOISXNE=X HH s 2 980,000  8Y 7,840
& 3,920
= 3,920
22 WEsF&X 78,000 54,000 24,000
201 Bt 21,600 21,600 0
01 AP 22| H| 3,600 3,600 0
Ogst=2H| 3,600
—QEIXH 220 S9H|
200,000€ * 3 x 3% * 23] 3,600
02 B232ZH4| 8,000 8,000 0
O2322 % HA 8,000
—Z2HsXE 22 5,000,000 5,000
—ZMEE RERS 3,000,000 3,000
03 A2 G HI 10,000 10,000 0
OZHMNUFEEZA Bx #HASHH 10,000,000 10,000
203 € R F&d| 2,400 2,400 0
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S C(BH) - HEAY - BAS Ol At o %@ﬁ HRE2
O3 AIEFAHRSE 2,400 2,400 0
O=2Munssgs &l 20,000 = 30Y « 43| 2,400
301 et A= 54,000 30,000 24,000
06 212t01 =22/ (4 HI 24,000 0 24,000
OZHREBZA 2Hol SC Y%2
600,000 * 20&H 12,000
OZHREBZA 4 SC Y%=
600,000 * 20&H 12,000
07 2B =0 Y| 30,000 30,000 0
OZMNUNEBE A Z2HKX =&
1,000,000& » 30H 30,000
HEg=0Ss=s|AMY 144,500 144,000 500
201 gEt24Ay| 13,500 13,000 500
02 B32ZH| 13,500 13,000 500
o232 ¢ 13,500
— HIIAI2 2 (87 A) 13,500,000 13,500
401 AlEHIZL £ 0HY| 131,000 131,000 0]
01 Al&H| 131,000 131,000 0
ogdg cCTvae 131,000
— HSolAl 35,000,000 * 1= 35,000
—Sg4 12,000,000 = 8JH A 96,000
MOl =& 24 6,000 24,000 A 18,000
307 giztol A 6,000 24,000 A 18,000
04 QI2SHALAIS & 6,000 24,000 A 18,000
ONOIZ22o & J184al 3,000,000& = 13 3,000
OMOISXNEZ X thal 3,000,000 = 13| 3,000
HEANAMIIS2S =& d 3t 7,000 10,000 A 3,000
307 2iz2to| & 7,000 10,000 A 3,000
04 QI2HSH AFALS & 7,000 10,000 A 3,000
Ot A &2 stotSCa U 3l
7,000,000& = 13 7,000
2HE2 ASsSHYHASS sotsU 3 7,000 10,000 A 3,000
307 2Iz2t0| & 7,000 10,000 A 3,000
04 SIZ2SHAAISH E X 7,000 10,000 A 3,000
OZYE NBYHAES 01SH3
7,000,000& = 13 7,000
HE3 AIY 3,238,102 3,624,968 A\ 386,866
= 17,309
o 38,857
= 3,181,936
HE B sALS 805,592 734,728 70,864
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SN FH-SA(EN) - MBAY - BES e HlnE2
= 10,589
s 795,003
HEZHEANAE 29I 495,379 590, 388 A 95,009
201 ¢er24l 275,637 351,911 NT6,274
01 At 2t 2l 116,350 204,910 A 88,560
OYpt+gH| 116,350
— dAata 2 1,000
BHIEI Ol Z (LTO) ¢ 200,000& = 104 2,000
—HIYEE HE 2ZEANH P 113,350
NHHE Hioleta 8Hal 490,0008 » 252 12,250
PCE HIOIH A YAl 30,000& = 800=2 24,000
- MSIIA AH2E ALEH
270,000& * 2002 54,000
OIE HEYRS M8 ATES O
500,000& = 302 15,000
- CiOlEfHiolA(0B) 22l AZEA
1,300,000& = 3= 3,900
- NH Tt 2el AZEYO
4,200,000& * 12 4,200
02 =24l 159,287 147,001 12,286
OA&EHl s Xl 159,287
—2EMEAEI(UPS) RXNE =
56,373,000& = 0.08 * 1.1 4,961
-5 FNES
15,987,450& » 0.08 * 1.1 1,407
—EXNFEBAALE(KLIS) SAE=
198,592,000& = 0.09 * 1.1 19,661
—USBECHZ2IAIAE S E=
25,230,000& * 0.1 = 1.1 2,776
— WXl Zel AlAE(PMS) S X2
29,100,000& * 0.1 = 1.1 3,201
—SEAEYX UL WAIH R4
729,301,230& = 0.08 * 1.1 64,179
—2-UtAlAE 48 AZEYNH RIS+
131,680,000& = 0.14 * 1.1 20,279
—PCHQUBE ZHE AMAH SXE*
45,000,000& = 0.1 = 1.1 4,950
—2-Lidt WU FBLHIAAY RAE
29,000,000& = 0.1 = 1.1 = 8/12 2,127
— AHEZHO Sor2ZAI AIAE RTE 2
67,800,000& = 0.1 * 1.1 7,458
—AZEQN SRAMAE X E=H
18,840,000& = 0.08 * 1.1 1,658
—UCHI A MAIAE X2
210,163,000& = 0.1 * 1.1 23,118
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26,600,000& = 0.12 = 1.1 3,512
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10 2|2 SH st A A S A 112,142 110,877 1,265
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=) 7,000,000& 7,000
O-LIgtAlAE MEBlAQAT 29 (A2F
242) 12,740,000& 12,740
405 XH&HF S HI 50,000 42,000 8,000
01 AL 2 FF S| 50,000 42,000 8,000
OdAtAl st2stE D] WM 25,000,000 = 24! 50,000

2ED|8 =&Y WX 270,000 0 270,000
403 XX SHHS K20 & 270,000 0 270,000
02 BSOS A= AFEHI 270,000 0 270,000

O2gD|8t == &d] WA 270,000, 000& 270,000
MNXCHH SSHMHUHESMAHA RSAA 11,545 15,672 A4 127
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= 8,887
201 LBt Y| 11,545 15,672 N4 127
= 2,658
= 8,887
01 AP 22| d| 11,545 15,672 N4 127
OYxz 11,545
— N2 BEIIE 2TNAY 7S
11,545,000& 11,545
= 2,658
= 8,887
ANXESHH 2SIIEt ES3H WDMAH 28,668 28,668 0]
= 7,931
= 20,737
201 et 9| 28,668 28,668 0
= 7,931
= 20,737
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SN BHD
M FE3 AL
Sl NYYLSAY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 2,800
OHEZs0IS M S 0 24
1,200,000& 1,200
307 gl2tol & 16,000 16,000 0
< 4,800
s 11,200
02 PIZHEHAHEE 16,000 16,000 0
OZF=sots 29 43 XNIF  16,000,000& 16,000
< 4,800
[ia 11,200
2302 T8N s4 33,020 33,002 18
= 6,720
< 6,048
[ia 20,252
307 glz2+ol & 33,020 33,002 18
= 6,720
< 6,048
e 20,252
02 HIAFAAGFEX 33,020 33,002 18
O&Es0Es Z2 082l X 1Al
13,440,000& » 29X 26,880
= 6,720
< 6,048
s 14,112
O4liEg = 16,800,000& * 2% * 0.0994 3,340
SRS 1,400,000 * 29 2,800
*EHO0X=2H 111,795 189,178 ATT7,383
201 L4l 71,795 42,178 29,617
01 At 22l 11,795 12,944 21,149
O e8| 11,795
— QoY ZE AIOIE EEH
500,000& * 12& 6,000
— HAOIE ZOiel 2eldl 2,475
20 49,5003 = 1874 891
st=2 =0 132,000& * 1204 1,584
—sEso AHHA 22
55,000& = 128 » 204 1,320
~AFEIH UE0IT AN 242
2,000,000& = 13l 2,000
02 =224l 60,000 29,234 30,766
OAE ZHIS X 60,000
—HAMOIE 2EAME & 2TH RAL=+ 11,387
- FAOIE M H
31,086,360& = 0.08 * 1.1 2,736
- DNS M H 7,187,180& = 0.08 * 1.1 633




SNl
=23 MY
NEEBSALS

S B G(SA) - NRANY - BES il 2
- SOIHSH A
5,460,000& = 0.08 * 1.1 481
- DASD HAH MY
3,800,000& = 0.08 * 1.1 335
- HAZESOH AH A
4,400,000& = 0.08 = 1.1 388
ARy
45,980,000 * 0.08 = 1.1 % 8/12 2,698
s
35,500,000 = 0.08 = 1.1 » 8/12 2,083
-EAXANANS I
34,650,000% * 0.08 = 1.1 » 8/12 2,033
~ZuEP ST WAOE RN=L 44,305
-8 s EAM0E 38,871,000 38,871
F230ts EA0IE
38,000,000& = 0.13 = 1.1 5,434
— EHO0IX 2 ATZEYAH RAE=S 4,308
0S Eotz =2
3,600,000& * 3& = 0.11 = 1.1 1,307
0B st AZEQN
24,800,000& * 0.11 = 1.1 3,001
207 O] 40,000 0 40,000
02 & AHIH I 40,000 0 40,000
Oy H2MoE248 =g
40,000,000 = 14l 40,000
CoFESNE K& 2,000 2,000 0
< 2,000
301 et 8= 2,000 2,000 0
< 2,000
NIJIEEd=s 2,000 2,000 0
Oz=eEEBstus 2A+=< 2,000,000& 2,000
< 2,000
U EBSNE =& 49,150 49,500 A 350
201 Let24E] 13,850 13,600 250
01 At 22l 13,850 13,600 250
Oget=EH| 7,400
— e EEES 22 - 22 ¥ HESuE B
2= WA S 2,000,000 2,000
— 23 us il 2L 10,000& * 300 3,000
—dEstusE 22| 200,000& = 12& 2,400
o2g+¢ 6,450
— D2 2eR ¥ A HE HESF
70,0002 * 5H + 23| 700
~HUEPEE S ZRW DT BANLE
50,0003 = 4AlI2t = 20 4,000




SN YD
N HEF ALY
Sl X EBEAY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—22d 20N 08 29
50,000& * 359 1,750
301 dEtEAZ 31,200 32,400 A 1,200
09 HALAHIEA = 1,200 2,400 A 1,200
OB NE XANFSALAN AHE4
10,000 * 1 = 1JHA = 102 * 12&€ 1,200
11 IIEtE &2 30,000 30,000 0
OB E 2AISE 30,000,000& 30,000
303 A2 2,100 1,500 600
01 ZAZ 2,100 1,500 600
O32d FEXNAC L3 2,100
— X2 500,000& * 1H 500
— = 300,000& * 29 600
—&d 200,000& * 29 400
— & OhAb 20,000& = 30Y 600
401 Al HI L2 THHI 2,000 2,000 0
01 A& bl 2,000 2,000 0
OB uUsE S Ald Sl 2,000,000 2,000
HESAoIZe 2= 1,156,887 1,442,783 N 285,896
< 24,809
= 1,132,078
HESAAAE S 22 965,620 1,019,559 A53,939
201 LEt2 Y| 604,820 609,059 N4,239
01 At 22l Yl 30,100 20,500 9,600
Oget=2H| 20,500
—SAA - nEta 2dHl 500,000 * 200 A 1,000
—UERT A2E RYAE . SES)
4,300,000 4,300
—2AEH AZRE F¢ 13,200
-otEeEdAa 100,000& * 4004 4,000
H2el 50,000& * 1084 5,400
- I 50,000& = 30H 1,500
- JIBE 12,0002 * 1004 1,200
- O0FRA 11,000& = 10074 1,100
—HAEXNYHULRE ARE U (ZAE EY
s) 400,000& * 504 2,000
Oexts 9,600
— A3 928 HEAX
800,000& « 121 & 9,600
02 35244l 574,720 588,559 A 13,839
O332=2 2 HA 378,000
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SN YD
HH: HPE AL
LT NSRS CEEEED
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
—Fosdes(2 0 d8sd, oHY &
&3 378,000, 000& 378,000
OAE ZHI S X 194,320
—HE2S4SAM A SEBAEH R+ 6,242
AE X S ALEHl =2l Hl
32,820,000& = 0.08 * 1.1 2,889
- MSEZAEH nEZ 2,200,000& 2,200
A EEHBAES HAHAANAEY
13,100,000& = 0.08 * 1.1 1,153
—UEAIIH L IPTAZY RX 4 112,267
28 Y S¥ UEAIFY
302,771,000& = 0.08 * 1.1 26,644
F25sE WEAIZY
88,786,000& = 0.08 * 1.1 7,814
224 HWHEHIAFYI 2,055,000& 2,055
SorEH(LSS &Y UERD H2HA
g) 493,624,000& = 0.08 * 1.1 43,439
SES RUIAEL 2EUHE
57,310,000& = 0.08 * 1.1 5,044
CIE{ LU H SH(IPT) Al A E 27,271,000 27,271
—HAYSAMAY S+
207,203,000& = 0.08 * 1.1 18,234
— dAEH RRES 57,577
ERY=] 557,028,000& = 0.08 * 1.1 49,019
Zeld 76,250,000&* 0.08 = 1.1 6,710
FAX 500,000& = 42CH * 0.08 * 1.1 1,848
O Xt & Bl 2,400
—JESH YR E I 77U
1,400& * 1,000£ 1,400
— o RFE3 100,000& * 10A 1,000
202 oddl 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0
OMESHEAN SRFX
20,000& = 3% = 100 6,000
OEESY H2F4 250,000& = 4% =« 43| 4,000
401 Al HI L 2 THHI 10,000 10,000 0
01 A& Hl 10,000 10,000 0
FNEESAHALE X & 0lA
100,000& * 1003 & 10,000
405 Xt&tE SHI 340,800 390,500 249,700
01 AL EFHSHI 340,800 390,500 249,700
OFESHEFH 7Y 340,800
— L= PCA 1,600,000& * 154CH 246,400
—doMEEH 1,100,000& * 15CH 16,500




SN YD
N HEF ALY
LT NSRS CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— A 600,000& * 5CH 3,000
— 8 X = A 9,000,000 = 5CH 45,000
— POEA R X 3,000,000 = 3CH 9,000
— P& & DI 800,000& = 15CH 12,000
— SAA Wet)| 2l 3,000,000 = 1CH 3,000
—mADE 200,000& = 10CH 2,000
—LE=S 1,300,000& = 3CH 3,900
iFBSAYS B 47,142 71,244 A24,102
= 23,571
= 23,571
201 LBt 47,142 71,244 N 24,102
= 23,571
= 23,571
02 3524l 47,142 71,244 N24,102
O332=2 2 HA 47 142
— Z2IEEENY (-2 22
47,142,000 47 142
== 23,571
iy 23,571
HEHBSAMAE 2 90,000 286,000 A 196,000
405 XHo&HF S HI 90,000 245,000 A 155,000
01 JHAHY 2 E F S H 90,000 245,000 A 155,000
OUIE®Za AAX LA 3,000,000& = 14CH 42,000
O s &X&d ¢ 10,000,000 = 1CH 10,000
O st &HI(VPN) 2 AH A
15,000,000 = 14! 15,000
O&XE oA MZE WX 23,000,000& * 14 23,000
=23 PEHAHY(Wi-Fi) 2SS AL 50,000 0 50,000
401 AIEHIL 200 50,000 0 50,000
01 A& Hl 50,000 0 50,000
OZ2320/I0] ALY 50,000, 000& 50,000
SOEBUANANY 25 4,125 0 4,125
& 1,238
= 2,887
402 SI2FXFE0| M 4,125 0 4,125
& 1,238
= 2,887
03 I 2HCH & AL HI 4,125 0 4,125
OsHEZUHEIIg e 2= 4,125,000 4,125
& 1,238
iy 2,887
oA SR HE 22 1,023,332 1,137,451 A114,119
SEYMLAHZSS 1,023,332 1,004,731 18,601

- 22 -




2N #HH
M FE3 AL
& SNFESES MU 2L (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 392,644 322,245 70,399
01 At 22l 5,480 5,480 0
Oget=gHl 4,500
—2AMJ,Z2H EH(EH) AR2E 2
500,000& * 33 1,500
—SEZNUH 22285 +2
500,000& * 63l 3,000
O2g4+y 980
—QNFEEHII 2gAAs +Y
70,0003 * 798 * 23| 980
02 =224l 387,164 316,765 70,399
03323 % HA 282,164
—CCTV & Ed =
88,000& = 2513l » 12& 265,056
— XSSy SNBSS 2NLAE HAH HE
SIdZ(WSHSEsH)
79,2003 * 183l & * 128 17,108
OA&EHl Xl 105,000
—CCTVsE s X2l 50,000,000& 50,000
—GUIESEHMALY RRE=
625,000,000& = 0.08 * 1.1 55,000
307 21201 A 612,288 528,986 83,302
05 RIZt2IEt = 612,288 528,986 83,302
OZUZESE2MEH 28 2LHERA 2
Sl 3,189,000& = 128 » 129H 459,216
OxSsw FUFISSE2MAH HH 2ULH
o AU (LSHSE3AH)
3,189,000& » 128 * 49 153,072
401 A EHI L 2O 18,400 23,000 A 4,600
01 A& HI 18,400 23,000 A 4,600
OCCTV 2 g=+4l 4,600,000 = 43| 18,400
NEOTH=E S 3,566,366 3,092,870 473,496
= 39,500
< 242,321
[ia 3,284,545
w=IFH X 1,638,286 1,201,680 436,606
< 227,321
[ia 1,410,965
St A K& 1,138,286 901,680 236,606
< 227,321
e 910,965
201 L2l 1,680 1,680 0
01 At 22l 1,680 1,680 0
o=zg=¢ 1,680
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SN BHD
g Ngesd
&2l ALK CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
N ERNEE R
70,0003 = 12H « 23| 1,680
308 XX EHSOIA 1,136,606 900,000 236,606
< 227,321
[ia 909,285
08 WSII20HetE = 1,136,606 900,000 236,606
Ostn A8l XI& 1,136,606, 000& 1,136,606
< 227,321
[ia 909,285
Zetie2g X 500,000 300,000 200,000
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